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Prosent av tall (manglende tall)

StudentName:

x10% =54
x 50% = 25
x 90% = 39.6
x 80% = 7.2
x70% = 44.1
x 50% =43.5
x 30% = 18.3
x70% = 8.4
x 80% = 57.6
x 80% = 9.6
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ExamDate:
x10% =4

x 10% = 10
x20% = 6.8
x30% =12

x 30% = 21
x40% = 21.6
x 90% = 81

x 80% = 4

x 40% = 38.4
x 80% = 32

ExamScore:
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ﬁ i Prosent av tall (manglende tall)
StudentName: ExamDate: _______ ExamScore: ___
54 x10% =54 40 x 10% = 4

50 x 50% = 25 100 x 10% = 10

44 x 90% = 39.6 34 x20% = 6.8

9 x80% =172 40 x 30% = 12

63 x 70% = 44.1 70 x 30% = 21

87 % 50% = 43.5 54 x40% = 21.6

61 x30% = 18.3 90 x 90% = 81

12 x70% = 8.4 5x80%=4

72 x 80% = 57.6 96 x 40% = 38.4

12 x 80% = 9.6 40 x 80% = 32
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